

On a Combinatorial Identity of Egorychev

R. Cruz-Santiago, A. Gómez-Ávalos and J. López-Bonilla

ESIME-Zacatenco, Instituto Politécnico Nacional,
 Edif. 5, 1er. Piso, Col. Lindavista CP 07738, CDMX, México

Abstract: We employ the hyper geometric function of Gauss to give an elementary proof of a combinatorial property obtained by Egorychev.

Key words: Petkovsek - Wilf-Zeilberger's method - Gauss hyper geometric function

INTRODUCTION

Egorychev [1] deduced the following identity:

$$A \equiv \sum_{k=1}^n \binom{n-1}{k-1} \frac{k!}{n^k} S_{k+m}^{[k]} = n^m, \quad m \geq 0, \quad n \geq 1, \quad (1)$$

involving the Stirling numbers of the second kind [2]. For example, if $n = 1, 2, \dots$ then (1) implies the known expressions [2]:

$$S_N^{[2]} = 2^{N-1} - 1, \quad S_N^{[3]} = \frac{1}{2}(3^{N-1} + 1 - 2^N), \dots \quad (2)$$

Here we shall show (1) via the algorithm explained in [3-9], in fact, we have the relation:

$$S_{k+m}^{[k]} = \frac{(-1)^k}{k!} \sum_{j=1}^k (-1)^j \binom{k}{j} j^{k+m}, \quad (3)$$

then:

$$A = \sum_{j=1}^n (-1)^j j^m B(j, n), \quad (4)$$

where:

$$B(j, n) \equiv \sum_{k=j}^n (-1)^k \binom{n-1}{k-1} \binom{k}{j} \left(\frac{j}{n}\right)^k = \left(-\frac{j}{n}\right)^j \binom{n-1}{j-1} \sum_{q=0}^{\infty} t_q,$$

such that:

$$t_q = \frac{(-1)^q (n-j)! (q+j)}{q! (n-q-j)! j} \left(\frac{j}{n}\right)^q \quad \therefore \quad \frac{t_{q+1}}{t_q} = \frac{(q+j-n)(q+j+1)}{(q+j)(q+1)} \cdot \frac{j}{n},$$

hence:

$$B(j, n) = \left(-\frac{j}{n}\right)^j \binom{n-1}{j-1} {}_2F_1\left(- (n-j), j+1; j; \frac{j}{n}\right), \quad (5)$$

involving a Gauss hypergeometric function which has the value 1 if $j = n$.

If now we consider $1 \leq j < n$, then we can apply the following identity [10]:

$${}_2F_1(-a, b+1; b; z) = \frac{1}{b} (1-z)^{a-1} [b - (a+b)z], \quad (6)$$

with $a = n-j$, $b = j$, $z = \frac{j}{n}$ to obtain the value 0 if $j \neq n$, therefore:

$${}_2F_1\left(- (n - j), j + 1; j; \frac{j}{n}\right) = \delta_{jn}, \tag{7}$$

thus (5) and (7) imply:

$$B(j, n) = \left(-\frac{j}{n}\right)^j \binom{n-1}{j-1} \delta_{jn} = (-1)^j \delta_{jn}, \tag{8}$$

and from (4) and (8):

$$A = \sum_{j=1}^n j^m \delta_{jn} = n^m, \quad q. e. d.$$

Besides, in [1] is the Shoo's identity [11]:

$$C \equiv \sum_{k=0}^n \binom{n}{k}^2 \binom{m+2n-k}{2n} = \binom{m+n}{m}^2, \tag{9}$$

which can be proved via the process indicated in [3-9]:

$$C = \binom{m+2n}{2n} \sum_{k=0}^{\infty} r_k, \quad r_k = \frac{m!(m+2nn-k)!}{(m+2n)!(m-k)!} \binom{n}{k}^2 \quad \therefore \quad \frac{r_{k+1}}{r_k} = \frac{(k-n)^2(k-m)}{(k-2n-m)(k+1)^2},$$

hence:

$$C = \binom{m+2n}{2n} {}_2F_1(-n, -n, -m; -2n-m, 1; 1). \tag{10}$$

From [12] we know the expression:

$${}_2F_1(-n, a, b; a+b-d-n+1, d; 1) = \frac{(d-a)_n (d-b)_n}{(d)_n (d-a-b)_n}, \tag{11}$$

then for $a = -n, b = -m, d = 1$:

$${}_2F_1(-n, -n, -m; -2n-m, 1; 1) = \frac{(2n)!}{(2n+m)!} \left[\frac{(n+m)!}{n!}\right]^2, \tag{12}$$

thus (10) and (12) give us the result $C = \binom{m+n}{m}^2, q. e. d.$

This hypergeometric approach allows show the Dixon's identity [1]:

$$D \equiv \sum_{k=0}^{2n} (-1)^k \binom{2n}{k}^3 = (-1)^n \frac{(3n)!}{(n!)^3}, \tag{13}$$

in fact:

$$D = \sum_{k=0}^{\infty} q_k, \quad q_k = (-1)^k \binom{2n}{k}^3 \quad \therefore \quad \frac{q_{k+1}}{q_k} = \left[\frac{k-2n}{k+1}\right]^3,$$

thus:

$$D = {}_3F_2(-2n, -2n, -2n; 1, 1; 1) = \frac{(-1)^n (3n)!}{(n!)^3},$$

where it was applied the following relation [13]:

$${}_3F_2(a, a, a; 1, 1; 1) = \frac{\Gamma\left(1+\frac{a}{2}\right)\Gamma\left(1-\frac{3a}{2}\right)}{\Gamma(1+a)\Gamma(1-a)\left[\Gamma\left(1-\frac{a}{2}\right)\right]^2}, \tag{14}$$

with $a = -2n$.

REFERENCES

1. Egorychev, G.P., 1984. Integral representation and the computation of Combinatorial sums, Am. Math. Soc. 59, Providence, Rhode Island, New York (1984).
2. Quaintance, J. and H.W. Gould, 2016. Combinatorial identities for Stirling numbers, World Scientific, Singapore (2016).
3. Petkovsek, M., H.S. Wilf and D. Zeilberger, 1996. A = B, symbolic summation algorithms, A. K. Peters, Wellesley, Mass. USA (1996).

4. Koepf, W., 1998. Hypergeometric summation. An algorithmic approach to summation and special function identities, Vieweg, Braunschweig/Wiesbaden (1998).
5. Koepf, W., 2007. Orthogonal polynomials and recurrence equations, operator equations and factorization, *Electronic Transactions on Numerical Analysis*, 27: 113-123.
6. Hannah, J.P., 2013. Identities for the gamma and hypergeometric functions: an overview from Euler to the present, Master of Science Thesis, University of the Witwatersrand, Johannesburg, South Africa (2013).
7. López-Bonilla, J., R. López-Vázquez and S. Vidal-Beltrán, 2018. Hypergeometric approach to the Munarini and Ljunggren binomial identities, *Comput. Appl. Math. Sci.*, 3(1): 4-6.
8. Barrera-Figueroa, V., I. Guerrero-Moreno, J. López-Bonilla and S. Vidal-Beltrán, 2018. Some applications of hypergeometric functions, *Comput. Appl. Math. Sci.*, 3(2): 23-25.
9. López-Bonilla, J. and I. Miranda-Sánchez, 2020. Hypergeometric version of a combinatorial identity, *Comput. Appl. Math. Sci.*, 5(1): 6-7.
10. <http://functions.wolfram.com/HypergeometricFunctions/Hypergeometric2F1/03/06/01/>
11. Kaucký, J., 1975. Combinatorial identities, Veda, Bratislava (1975).
12. <http://functions.wolfram.com/HypergeometricFunctions/Hypergeometric3F2/03/02/04/>
13. <http://functions.wolfram.com/HypergeometricFunctions/Hypergeometric3F2/03/02/03/>